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ÍÛæ̃ Û¶ÛÛ : þùÁéõïõ ¸ÛóÊ¶Û¶ÛÛ •Ûä̈ Û ïõÛíêÍÛ¾ÛÛ× þùÉÛÛÙÈÛéÅÛ ™öé. 

 

1. (…) ¶Ûà˜Ûé …Û¸ÛÈÛÛ¾ÛÛ× …ÛÈÛéÅÛ ½ÛÛÁõ©Û¶ÛÛ× …éïõ ÈÛÌÛÙ¶ÛÛ ÜÈÛþéùÉÛà Ðä×üÜ¦øýÛÛ¾Û¨Û¶ÛÛ ÈýÛÈÛÐüÛÁõÛé ¸ÛÁõ¬Ûà ÅÛé̈ Û-
þéù¨Û¶Ûà ÍÛ¾Û©ÛäÅÛÛ¶Ûä× ”ÛÛ©Ûä ©ÛíéýÛÛÁõ ïõÁõÛé …¶ÛÛé ÉÛÛéµÛÛé ÈÛȩ́ ÛÛÁõ¶Ûà ¼ÛÛïõà, ˜ÛÛÅÛä ”ÛÛ©ÛÛ¶Ûà ¼ÛÛïõà, ¾Ûæ¦øà 
”ÛÛ©ÛÛ¶Ûà ¼ÛÛïõà …¶Ûé ïäõÅÛ ”ÛÛé¤ø/ÈÛµÛÛÁõÛé : (7) 

ÄÜ¸ÛýÛÛ ïõÁõÛé¦ø¾ÛÛ× 
ÜÈÛ•Û©Û Áõïõ¾Û ÜÈÛ•Û©Û Áõïõ¾Û ÜÈÛ•Û©Û Áõïõ¾Û 

¾ÛÇéÅÛ ÁõÛéïõ¦ø 61 Ü¶ÛïõÛÍÛÛé 3000 ¼Ûêïõ ˜ÛÛœ÷ÙÍÛ 
˜ÛäïõÈÛÛýÛÛ 

58 

ÈýÛÛ›÷ ˜ÛæïõÈýÛä 20 ½ÛæÅÛ …¶Ûé ÉÛÁõ©Û˜Ûæïõ 38 ÈýÛÛ›÷ ¾ÛÆýÛä 14 

ÅÛÛ×¼ÛÛ•ÛÛÇÛ¶Ûà 
…Û¸ÛéÅÛ ÅÛÛé¶Û 

2500 ¤æ×øïõÛ•ÛÛÇÛ¶ÛÛé º×õ¦ø 
…ÛÈÛïõ ¸ÛóÈÛÛÐü 

330 FDI 1000 

…ÛýÛÛ©ÛÛé 900 ˜ÛæïõÈÛà…Ûé 25 Ü¦øÜÈÛ¦ø¶¦ø ¾ÛÆýÛÛ 678 

FII 3000 ÅÛÛ×¼ÛÛ•ÛÛÇÛ¶Ûà 
ÅÛàµÛéÅÛ ÅÛÛé¶Û 

5000 ¤æ×øïõÛ•ÛÛÇÛ¶ÛÛ º×õ¦ø 
›ÛÈÛïõ ¸ÛóÈÛÛÐü 

250 

Ü¦øÜÈÛ¦ø¶¦ø ˜ÛæïõÈÛà 503 ¼Ûêïõ ˜ÛÛœ÷ÙÍÛ ¾ÛÆýÛÛ 39   

…¬ÛÈÛÛ 
  ýÛæÁõÛȩ́ ÛàýÛ¶Û ¶ÛÛ¨ÛÛ ÈýÛÈÛÍ¬ÛÛ¶ÛÛé Šþù½ÛÈÛ, ˆÜ©ÛÐüÛÍÛ …¶Ûé ÈÛ©ÛÙ¾ÛÛ¶Û ÜÍ¬ÛÜ©Û ¸Ûæ̈ ÛÙ Áõà©Ûé ÈÛ¨ÛÙÈÛÛé.  
 (¼Û) •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : (4) 
  (i) ¼ÛÐäü ÁõÛÌ¤ÖøàýÛ µÛ×µÛÛïõàýÛ …éïõ¾ÛÛé¶ÛÛé ÜÈÛïõÛÍÛ …¶Ûé ÈÛíéÜÊÈÛïõÁõ¨Û ÈÛ˜˜Ûé¶ÛÛé ÍÛ×¼Û×µÛ ÍÛ¾Û›ÛÈÛÛé. 
  (ii) …Û×©ÛÁõÁõÛÌ¤ÖøàýÛ ¶ÛÛ¨ÛÛ× ½Û×¦øÛéÇ¶Ûà ÈýÛÈÛÍ¬ÛÛ ïéõ¾Û ©Ûæ¤øà •Ûˆ …¶Ûé ©Ûé¶ÛÛ ÉÛä× ¸ÛÜÁõ¨ÛÛ¾Û Ðü©ÛÛ ? 
  (iii) ÜÈÛÜ¶Û¾ÛýÛ þùÁõ …ÛµÛÛÁõ¨Û¶Ûà ¶Ûà˜Ûé¶Ûà ¤éøïõ¶ÛàïõÛé ÈÛ¨ÛÙÈÛÛé : 
   ¤éøïõ¶ÛàïõÅÛ, ¾ÛæÇ½Ûæ©Û, ¼Û›ÛÁõ …ÛµÛÛÜÁõ©Û …¶Ûé Ü¾ÛËÛ 
 (ïõ) ¶Ûà˜Ûé¶ÛÛ× ïõÛé̂ ¸Û¨Û ¼Ûé¶ÛÛ …éïõ-¼Ûé ÈÛÛîýÛ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : (3) 
  (i) ÅÛé̈ Û-þéù¨Û¶Ûà ÍÛ¾Û©ÛäÅÛÛ¶ÛÛ ”ÛÛ©ÛÛ¶ÛÛ× …¶ÛÛ¾Û©Û ”ÛÛ©ÛÛ¾ÛÛ× ïõýÛÛ-ïõýÛÛ ÈýÛÈÛÐüÛÁõÛé ¶ÛÛêµÛÛýÛ ™öé ? 
  (ii) ¸Ûó©ýÛ“Û, ¸ÛÁõÛé“Û …¶Ûé ’õÛéÍÛ ÜÈÛÜ¶Û¾ÛýÛ þùÁõ ïõÛé¤éøÉÛ¶Û¶ÛÛé ©ÛºõÛÈÛ©Û …Û¸ÛÛé. 
  (iii) ýÛäÁõÛé ¼Û›ÛÁõÛé …é¤øÅÛé ÉÛä× ? 



BA-102 2  

2. (…) …Û×©ÛÁõÁõÛÌ¤ÖøàýÛ ÜÈÛïõÛÍÛ …é›÷é¶ÍÛà ÜÈÛÉÛé ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé. (7) 

…¬ÛÈÛÛ 

  …Û×©ÛÁõÁõÛÌ¤ÖøàýÛ ¶ÛÛ¨ÛÛ× ïõÛȩ́ ÛÛëÁéõÉÛ¶Û ÜÈÛÉÛé ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé. 

 (¼Û) •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : (4) 

  (i) ýÛäÁõÛé ïõ¾ÛÉÛâýÛÅÛ ¸Ûȩ́ ÛÁõ …¶Ûé ýÛäÁõÛé ÍÛ¤øâºõàïéõ¤ø …Ûñºõ Ü¦ø¸ÛÛé¡öà¤ø¶ÛÛ× ÅÛ“Û¨ÛÛé ïõýÛÛ ™öé ? 

  (ii) ADR ¼ÛÐüÛÁõ ¸ÛÛ¦øÈÛÛ …×•Ûé¶Ûà ÜÈÛÜµÛ ÈÛ¨ÛÙÈÛÛé. 

  (iii) ýÛæÁõÛé¼ÛÛé¶¦ø ¼ÛÐüÛÁõ ¸ÛÛ¦øÈÛÛ …×•Ûé¶Ûà ÜÈÛÜµÛ ÈÛ¨ÛÙÈÛÛé. 

 (ïõ) •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ …éïõ-¼Ûé ÈÛÛîýÛ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé. (3) 

  (i) ÜÈÛÊÈÛ ¼Ûêïõ¶ÛÛ ïõÛýÛÛë ¼Û©ÛÛÈÛÛé. 

  (ii) …Û×©ÛÁõÁõÛÌ¤ÖøàýÛ ¶ÛÛ¨ÛÛ× ¼Û›ÛÁõÛé¶ÛÛ ÍÛÛþùÛ ¦éøÁõàÈÛé¤øàÈÛ ÍÛÛµÛ¶ÛÛé ïõýÛÛ ™öé ? 

  (iii) …Û×©ÛÁõÁõÛÌ¤ÖøàýÛ ¶ÛÛ¨ÛÛ× ¼Û›ÛÁõÛé¶ÛÛ ÍÛÁõïõÛÁõà “ÛéªÛ¶ÛÛ ÜÈÛÜÉÛÌ¤ø ÅÛ“Û¨ÛÛé ÈÛ¨ÛÙÈÛÛé. 

 

3. (…) ÁõÛéïõÛýÛéÅÛ ½Û×¦øÛéÇ ÜÈÛÉÛé ©Û¾Ûé ÉÛä× ›Û¨ÛÛé ™öÛé ? ŠþùÛÐüÁõ¨Û ÍÛÜÐü©Û ÍÛ¾Û›ÛÈÛÛé. (7) 

…¬ÛÈÛÛ 

  ÁõÛéïõ¦ø ›÷ÄõÜÁõýÛÛ©ÛÛé¶Ûé ˆÌ¤ø©Û¾Û ïõÁõÈÛÛ …×•Ûé ˜Û˜ÛÛÙ ïõÁõÛé. 

 (¼Û) •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : (4) 

  (i) ÉÛÛ”Û¶ÛÛé ÍÛ¾ÛýÛ•ÛÛÇÛé –Û¤øÛ¦øÛé …¶Ûé ÈÛµÛÛÁõÛé ÍÛ¾Û›ÛÈÛÛé. 

  (ii) …Û×©ÛÁõÁõÛÌ¤ÖøàýÛ …éïõ¾Û¶Ûà ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà¶ÛÛ× ÍÛ×þù½ÛÙ¾ÛÛ× •Ûä×̃ ÛÈÛ¨ÛÛé ˜Û˜ÛÛë. 

  (iii) Ü³ù¾Ûä”Ûà …¶Ûé ¼ÛÐäü¾Ûä”Ûà ¶Ûé¤øá•Û ÈÛ˜˜Ûé ©ÛºõÛÈÛ©Û Í¸ÛÌ¤ø ïõÁõÛé. 

 (ïõ) •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ …éïõ-¼Ûé ÈÛÛîýÛ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : (3) 

  (i) ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà¶ÛÛé …éïõ Š°éùÉÛ …Û¸ÛÛé. 

  (ii) ÁõÛéïõ¦ø µÛÛÁõ¨Û ïõÁõÈÛÛ¶ÛÛé …éïõ Š°éùÉÛ ÅÛ”ÛÛé. 

  (iii) ýÛÛé›÷¶ÛÛ ÍÛ¾Û©Ûæ¤ø Ý¼Ûþäù ÁõÛéïõ¦ø ¸ÛóÈÛÛÐü ÍÛ×þù½ÛÙ¾ÛÛ× ÉÛä× ™öé ? 

 

4. (…) ÅÛÛ×¼Ûà …¶Ûé ¤æ×øïõà ¼Û¤øÁõ¹ÅÛÛˆ ÈýÛæÐüÁõ˜Û¶ÛÛ…Ûé …ÛïèõÜ©Û ³ùÛÁõÛ ÍÛ¾Û›ÛÈÛÛé. (7) 

…¬ÛÈÛÛ 

  ºõÛéÁõÈÛ¦Ùø ïõÁõÛÁõ ³ùÛÁõÛ ›Ûé”Û¾Û ïéõÈÛà Áõà©Ûé ÍÛ×̃ ÛÛÜÅÛ©Û ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 

 (¼Û) •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : (4) 

  (i) ¼Û·Ûé ”ÛÁõàþùþùÛÁõ …¶Ûé ÅÛ”Û¶ÛÛÁõ ¾ÛÛ¤éø Put (¸Ûä¤ø) …¶Ûé Call (ïõÛñÅÛ) …Ûņ̃ ÉÛ¶Û¶Ûà ¸Ûé-…Ûñºõ 
(Pay-off) …ÛïèõÜ©Û þùÛéÁõÛé. 

  (ii) ›Ûé”Û¾Û ÍÛÛ¾Ûé ¹ýÛæ̃ ÛÍÛÙ ïõÁõÛÁõ ïéõÈÛà Áõà©Ûé Áõ“Û¨Û ¸ÛäÄõ ¸ÛÛ¦éø ™öé ? 

  (iii) ›Ûé”Û¾Û ÍÛ×̃ ÛÛÅÛ¶Û ¾ÛÛ¤éø ÍÈÛȩ́ ÍÛ¶ÛÛé Š¸ÛýÛÛé•Û ïéõÈÛà Áõà©Ûé ¬ÛÛýÛ ™öé ? 
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 (ïõ) •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ …éïõ-¼Ûé ÈÛÛîýÛ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : (3) 

  (i) …Û¦äø Í¸Ûóé¦ø (horizontal spread) …é¤øÅÛé ÉÛä× ? 

  (ii) Š½Ûä Í¸Ûóé¦ø (vertical spread) …é¤øÅÛé ÉÛä× ? 

  (iii) ÜÈÛþéùÉÛà ˜ÛÅÛ¨Û ÍÈÛȩ́ Û¾ÛÛ× þùÛ”ÛÅÛ ¬ÛÈÛÛ¶Ûà ›÷ÄõÜÁõýÛÛ©ÛÛé ïõˆ ™öé ? 

 

5. ÍÛÛ˜ÛÛé ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõà¶Ûé ÅÛ”ÛÛé : (14) 

 (1) ›Ûé ½ÛÛÁõ©Û¾ÛÛ× ÜÈÛþéùÉÛà ˜ÛÅÛ¨Û¶Ûä× ¼Û›ÛÁõ ïõÛé¤éøÉÛ¶Û INR 70.85/05 ÐüÛéýÛ ©ÛÛé ¼Ûà¦ø (bid) …¶Ûé …ÛéºõÁõ 
(offer) þùÁõÛé ÐüÉÛé : 

  (a) 70.05 …¶Ûé 70.85;  (b) 70.85 …¶Ûé 70.05;  

  (c) 70.45 …¶Ûé 70.90;  (d) 70.90 …¶Ûé 70.45  

 (2) ÜÈÛþéùÉÛà ˜ÛÅÛ¨Û¶Ûä× ïõýÛä …éîÍÛ¸ÛÛé¡öÁõ (Exposure) ÁõÛéïõ¦ø ¸ÛóÈÛÛÐü ÍÛÛ¾ÛéÅÛ ïõÁéõ ™öé ? 

  (a) Äõ¸ÛÛ×©ÛÁõ   (b) ÈýÛÈÛÐüÛÁõ 

  (c) Ü¶ÛýÛ×ÜªÛ©Û   (d) Š¸ÛÁõ¶ÛÛ× …éïéõýÛ ¶ÛÐüà 

 (3) ÜÈÛþéùÉÛà ˜ÛÅÛ¨Û¶ÛÛ ÈýÛÈÛÐüÛÁõÛé¶Ûé Äõ¸ÛÛ×©ÛÁõ ïõÁõÈÛÛ ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõˆ ¸Û±ùÜ©Û…Ûé¶ÛÛé Š¸ÛýÛÛé•Û ¬ÛÛýÛ ™öé ? 

  (a) ˜ÛÛÅÛä   (b) ¤éø¾¸ÛÛéÁõÅÛ (TEMPORAL) 

  (c) ˜ÛÛÅÛä-Ü¼Û¶Û˜ÛÛÅÛä  (d) Š¸ÛÁõ¶ÛÛ× ¼ÛµÛÛ ›÷ 

 (4) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä ¦øÛéÅÛÁõ¶Ûä× ¾ÛæÅýÛ ÍÛÛé¶ÛÛ ÍÈÛÄõ¸Ûé ¸Ûä¶Û: ¶Û‘õà ïõýÛäÚ ™öé ? 

  (a) ¾ÛÛÍ¤Öøàïõ ÍÛ×ÜµÛ  (b) ›÷é¾ÛÛˆïõÛ ïõÁõÛÁõ 

  (c) ÜÍ¾Û¬ÛÍÛÛéÜ¶ÛýÛ¶Û ïõÁõÛÁõ (d) ÅÛÛéÈÛÁéõ ÍÛ¾Û›æ÷©Ûà 

 (5) ©ÛÁõ©ÛÛ þùÁõ ¼ÛÛé¶¦ø 

  (a) ˜ÛÜÅÛ©Û ÈýÛÛ›÷ ˜ÛæïõÈÛé ™öé. (b) ÈýÛÛ›÷ ˜ÛäïõÈÛ©Ûä ¶Û¬Ûà. 

  (c) ÜÍ¬ÛÁõ ÈýÛÛ›÷ ˜ÛäïõÈÛé ™öé. (d) ÈÛ¤øÛÈÛ ˜ÛäïõÈÛé ™öé. 

 (6) ¶ÛÛé¤ø ¼ÛÐüÛÁõ ¸ÛÛ¦øÈÛÛ¶Ûà ÍÛ•ÛÈÛ¦ø _____ ³ùÛÁõÛ ¸ÛæÁõà ¸ÛÛ¦øÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. 

  (a) ¦éøÁõàÈÛé¤øàÈýÛæ …éîÍÛ˜Ûé¶›÷ (b) Í¤øÛéïõ …éîÍÛ˜Ûé¶›÷ 

  (c) ï×õ¸Û¶Ûà…Ûé   (d) ¼ÛêïõÛé 

 (7) ¼Ûé¶ïõÍÛÙ¶Ûà ÍÈÛàïèõÜ©Û …é 

  (a) ¸ÛÁõÛ’õ¾ýÛ ÅÛé”Û ™öé.  (b) ¼ÛÛ×ÐéüµÛÁõà ™öé. 

  (c) ïéõÁõàÈÛé¤øàÈÛ ™öé .  (d) ÜµÛÁõÛ¨Û ÅÛéÈÛÛ¶Ûä× ÍÛÛµÛ¶Û ™öé. 

 (8) ÜÈÛþéùÉÛà ˜ÛÅÛ¨Û¶ÛÛ× ÈýÛÈÛÐüÛÁõÛé¾ÛÛ× ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõÛé¶ÛÛé ÍÛ×þù½ÛÙ ©ÛÁõàïéõ ¾ÛÛé¤éø½ÛÛ•Ûé Š¸ÛýÛÛé•Û ¬ÛÛýÛ       
™öé ? 

  (a) LIBOR; (b) LIBID; 

  (c) LIMEAN; (d) MIBOR 
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 (9) ýÛÛé›÷¶ÛÛ¶Ûä× ˜ÛÛé””Ûä ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ ` 20 ÅÛÛ”Û ™öé. šýÛÛÁéõ ªÛ¨Û ÈÛÌÛÙ¶ÛÛ …×©Ûé ýÛÛé›÷¶ÛÛ ¸ÛæÁõà ¬ÛÉÛé 
©ýÛÛÁéõ ÍÛ¾Û©Ûä¤øÝ¼Ûþäù ÁõÛéïõ¦ø ¸ÛóÈÛÛÐü ïéõ¤øÅÛÛé ÐüÉÛé ? ¾Ûæ¦øà¶Ûà ¸Û¦ø©ÛÁõ 10% ™öé. 

  (a) 24.2 ÅÛÛ”Û   (b) 16.52 ÅÛÛ”Û 

  (c) 18.18 ÅÛÛ”Û   (d) Š¸ÛÁõ¶ÛÛ× …éïéõýÛ ¶ÛÐüà 

 (10) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ¾Ûæ¦øà ¼Û›÷é¤øá•Û ¾ÛÛ¤éø Ü¼Û¶Û-¶ÛÛ¨ÛÛïõàýÛ ¸ÛÜÁõ¼ÛÇÛé ™öé : 

  (a) ÍÛ×̃ ÛÛÅÛïõÛé¶ÛÛé …Ü½Û•Û¾Û (b) µÛ×µÛÛ¶Ûà ÈýÛæÐüÁõ˜Û¶ÛÛ 

  (c) ïõÁõÈÛéÁõÛ¶ÛÛé þùÁõ  (d) ¼Û·Ûé (a) …¶Ûé (b) 

 (11) ÜÈÛþéùÉÛà •ÛÛíé̈ Û ï×õ¸Û¶Ûà Í¬ÛÛÜ¶Ûïõ ¼Û›ÛÁõ¾ÛÛ× 15 ÅÛÛ”Û¶Ûä× ÈÛé̃ ÛÛ¨Û ïõÁéõ ™öé …¶Ûé …¶ýÛ þéùÉÛ¾ÛÛ×          
3 ÅÛÛ”Û¶Ûà Ü¶ÛïõÛÍÛ ïõÁéõ ™öé. ¸ÛÁ×õ©Ûä ÉÛÛÍÛïõ ï×õ¸Û¶Ûà¶ÛÛ ÈÛé̃ ÛÛ¨Û¾ÛÛ× 7 ÅÛÛ”Û¶ÛÛé –Û¤øÛ¦øÛé ¬ÛÛýÛ ™öé. 
•ÛÛíé̈ Û ÉÛÛÍÛïõ ¸ÛÛÍÛé¬Ûà 5 ÅÛÛ”Ûõ¶ÛÛ× ½ÛÛ•ÛÛé ”ÛÁõàþéù ™öé. ©ÛÛé ÉÛÛÍÛïõ¶ÛÛ ®ùÜÌ¤øÝ¼Ûþäù¬Ûà …ÛÈÛïõ ÁõÛéïõ¦ø 
¸ÛóÈÛÛÐü ïéõ¤øÅÛÛ ÐüÉÛé ? 

  (a) 16 ÅÛÛ”Û   (b) 11 ÅÛÛ”Û 

  (c) 23 ÅÛÛ”Û   (d) Š¸ÛÁõ¶ÛÛ× …éïéõýÛ ¶ÛÐüà 

 (12) …Ûȩ́ ÉÛ¶Û ïõÁõÛÁõ ³ùÛÁõÛ Ðéüœ×÷•Û ¾ÛÛ¤éø …éïõ ›÷ÄõÁõàýÛÛ©Û ™öé. 

  (a) …ÛÈÛÁõà ÅÛéÈÛÛýÛéÅÛ¾ÛÛ× …éïõÍ¸ÛÛé¡öÁõ (Exposure) 

   (b) ¸ÛÛé©ÛÛ¶Ûà ï×õ¸Û¶Ûà 

  (c) ¹ýÛæ̃ ÛÍÛÙ ïõÁõÛÁõ¶Ûä× ÈÛé̃ ÛÛ¨Û 

   (d) ÈÛȩ́ ÛÛÁõà ¼Û¶ÛÈÛä 

 (13) ÈýÛÛ›÷ þùÁõ ÍÈÛȩ́ Û¶ÛÛ ©Û¼Û‘õÛ _______ ¬Ûà ÍÛ×¼Û×ÜµÛ©Û ™öé. 

  (a) ¼ÛäÝïõ•Û   (b) ¼Û×µÛ ïõÁõÈÛÛ¶Ûä 

  (c) ÈýÛÛ›÷ ˜ÛæïõÈÛÈÛÛ¶Ûä  (d) Ü¸ÛóÜ¾ÛýÛ¾Û 

 (14) œ÷.¦øà.…ÛÁõ. (GDR)¶ÛÛ ¾Û©ÛþùÛ¶Û …ÜµÛïõÛÁõÛé 

  (a) ÍÈÛ©Û¶ªÛ ™öé.  

  (b) Ü¦ø¸ÛÛé¡öà¤øÁõà …¶Ûé ¼ÛÐüÛÁõ ¸ÛÛ¦ø©Ûà ï×õ¸Û¶Ûà ÈÛ˜˜Ûé ïõÁõÛÁõ ¸ÛÁõ …ÛµÛÛÁõ ÁõÛ”Ûé ™öé 

  (c) µÛÛÁõïõ ¸ÛÛÍÛé ÐüÛéýÛ ™öé 

   (d) …Ûé¦øâ¶ÛÁõà ÐüÛéÅ¦øÁõÛé ›÷é¾Û 
______________ 
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1. (a) Given the following information about the foreign currency transactions of India 

for a year, prepare the balance of payment account and find out the following : 

  Balance of trade, balance of current account, balance of capital account and 

overall deficit/surplus. All figures are in Rupees crores. (7) 

Item Amount Item Amount Item Amount 

remittances 

received 

61 exports 3000 bank charges paid 58 

interest paid 20 errors and 

omissions 

38 interest received 14 

long term loans 

given 

2500 short term fund 

inflow 

330 FDI 1000 

imports 900 remittances paid 25 dividend received 678 

FII 3000 long term loans 

received 

5000 short term fund 

outflow 

250 

dividend paid 503 bank charges 

received 

39   

OR 

  Fully describe the emergence, history and present status of European Monetary 

system. 

 (b) Answer any two in brief : (4) 

  (i) Explain the relationship between growth of Multi National Corporations 

and Globalization.  

  (ii) Why did the system of International Monetary Fund breakdown and what 

was its result ?  

  (iii) Describe the following techniques of Exchange rate Forecasting : 

Technical, fundamental, market based and mixed. 

 (c) Answer any two in one or two sentences : (3) 

  (i) What are the transactions recorded in the reserve account of Balance of 

Payment account ? 

  (ii) Differentiate between direct, indirect and cross exchange rates quotations. 

  (iii) What are Euromarkets ? 
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2. (a) Write a short note on International Development Agency. (7) 

OR 

  Write a short note on International Finance Corporation. 

 (b)  Answer any two in brief : (4) 

  (i)  What are the characteristics of Euro Commercial Paper and Euro Certificate 

of Deposit. 

  (ii)  Describe the procedure for issuing ADRs.  

  (iii)  Describe the procedure for issuing Eurobond ? 

 (c) Answer any two in one or two sentences : (3) 

  (i) State the functions of World Bank. 

  (ii) What are the simple derivative instruments of international financial 

markets ? 

  (iii) State the unique features of the Government Sector of the international 

financial markets. 

 

3. (a)  What do you know about blocked funds ? Explain with illustrations. (7) 

                                        OR 

   Discuss optimization of cash needs. 

 (b)  Answer any two in brief : (4)  

  (i)  Explain leads and lags. 

  (ii)  Discuss complexity in international firms in the context of working capital 

management.  

  (iii) Distinguish between bilateral and multilateral netting. 

 (c) Answer any two of the following in one or two sentences: (3) 

  (i) Give one objective of working capital management.  

  (ii) State one aim for holding of cash.  

  (iii) What is terminal (Break even point) cash flow ? 

 

4. (a)  Describe the long and short butterfly strategies with diagrams. (7) 

                                                       OR 

   How is risk managed through a forward contract ? 

 (b)  Answer any two in brief : (4) 

  (i)  Draw the pay-off diagram for a put and call option for both the buyer and 

the writer. 

  (ii)  How do futures contract provide protection from risk ?  

  (iii)  How are swaps used for risk management ? 

 (c)  Answer any two in one or two sentences : (3) 

  (i) What is a horizontal spread ? 

  (ii) What is a vertical spread ? 

  (iii) What are the requirements to enter into a forex swap ? 
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5. Choose and write the correct option : (14) 

 (1)  If the market quotation of a foreign currency in India is INR 70.85/05, then the 

bid and offer rates are: 

  (a) 70.05 and 70.85;  (b) 70.85 and 70.05;  

  (c) 70.45 and 70.90;  (d) 70.90 and 70.45  

 (2) Which exposure in foreign currency involves cash flow ? 

  (a) Translation (b) transaction 

  (c) regulatory  (d) none of the above 

 (3) Which of the following methods is used for translating foreign currency 

transactions ? 

  (a) Current;  (b) temporal;  

  (c) current-noncurrent;  (d) all of the above  

 (4)  Which of the following refixed the value of US Dollar in terms of Gold ? 

  (a) Maastritch Treaty (b) Jamaica Agreement 

  (c) Smiithsonian Agreement (d) Louvre accord  

 (5)  A floating rate bond will pay 

  (a) Variable interest (b) no interest 

  (c) fixed interest (d) discount  

 (6)  Note Issue facility is provided by 

  (a) Derivative exchanges (b) stock exchanges 

  (c) companies (d) banks 

 (7) Banker’s acceptance is 

  (a) A negotiable instrument (b) a guarantee 

  (c) a derivative (d) borrowing instrument 

 (8) Which of the following is used most often as reference in foreign currency 

transactions ?  

  (a) LIBOR; (b) LIBID; 

  (c) LIMEAN; (d) MIBOR 

 (9)  Net present value of a project is ` 20 lakhs. What will be the breakeven point at 

the end of the third year when project will be completed ? Cost of capital is 10%. 

   (a) ` 24.2 lakh (b) ` 16.52 lakh  

  (c) ` 18.18 lakh (d) none of the above 

 (10)  Which of the following is non-financial factor in capital budgeting ? 

  (a) attitude of the management 

  (b) business strategy 

  (c) tax rate 

  (d) both (a) and (b)  
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 (11)  A foreign subsidiary company sells goods of ` 15 lakhs in local market and 

exports to a third country worth ` 3 lakhs. But sales of holding company is 

reduced by ` 7 lakhs. Subsidiary purchases components of ` 5 lakhs. What will be 

the cash flow from the point of view of parent ?  

  (a) ` 16 lakhs;  (b) ` 11 lakhs;  

  (c) ` 23 lakhs;  (d) none of the above 

 (12)  For hedging risk through options contract one of the requirements is to 

  (a) Have an exposure in the underlying;  

  (b) own a company;  

  (c) sell a futures contract; 

  (d) be a trader 

 (13) Leg of an interest rate swap is related to : 

  (a) Booking;  (b) closing;  

  (c) interest payment;  (d) premium 

(14) Voting rights of GDR are 

  (a) Independent; 

  (b) depend upon agreement between the issuing company and depository; 

  (c) belong to the holders; 

  (d) same as those of ordinary shareholders. 

 

_____________ 


